PROJECT: MERRITT ROAD MCIP PROJECT 22805
LIMITS: GARLAND/ROWLETT CITY LIMITS TO PLEASANT VALLEY ROAD

BID TAB

BID: 2013-012-6206 DATE: 12/20/2012

PROJECT MANAGER: Dennis Abraham, P.E.

Ed Bell

Tiseo Paving

Lone Star Civil

CPS Civil

Austin Bridge & Road

PaveCon

ITEM DESCRIPTION

UNIT QUANTITY UNIT PRICE EXTENSION UNIT PRICE EXTENSION UNIT PRICE EXTENSION UNIT PRICE EXTENSION UNIT PRICE EXTENSION

SCHEDULE 1 - PAVING & DRAINAGE	***												J. 11. 11. 11. 11. 11. 11. 11. 11. 11. 1	EXTEROION
100 PREPARING RIGHT OF WAY	STA	27	\$5,000.00	\$135,000.00	\$1,630.00	\$44,010.00	\$7,003.15	\$189,085.05	\$3,000.00	\$81,000.00	\$5,500.00	\$148,500.00	\$0.444.00L	202 202 202
104 REMOVING CONCRETE-PAVEMENT INC.CURB/DRIVEWAY	SY	500	\$4.00	\$2,000.00	\$2.90	\$1,450.00	\$16.05	\$8.025.00	\$10.00	\$5.000.00	\$2,75	\$1,375.00	\$3,441.00 \$13.53	\$92,907.00
104 REMOVING CONCRETE-SIDEWALK/RIPRAP	SY	100	\$3.00	\$300.00	\$6.35	\$635.00	. \$2.99	\$299.00	\$10.00	\$1,000.00	\$6.25	\$625.00		\$6,765.00
104 SAWED BREAKOUT GROOVE	LF	200	\$3.00	\$600.00	\$2.00	\$400.00	\$2.15	\$430,00	\$5.00	\$1,000.00	\$1.75	\$350.00	\$14.30	\$1,430.00
105 REMOVING STABILIZED BASE AND/OR ASPHALTIC PAVEMENT	SY	10,000	\$2.00	\$20,000.00	\$2.90	\$29,000.00	\$4.29	\$42,900.00	\$15.00	\$150,000.00	\$2.75	\$27,500.00	\$5.00 \$3.16	\$1,000.00 \$31,600.00
110 EXCAVATION-ROADWAY & CHANNEL	CY	7,650	\$10.00	\$76,500.00	\$9.30	\$71,145.00	\$7.74	\$59,211.00	\$15.00	\$114,750.00	\$9.00	\$68,850.00	\$11.40	
132 EMBANKMENT-(TYB)(DENSITY CONTROL)(CLASS A)	CY	2,775	\$5.00	\$13,875.00	\$10.40	\$28,860.00	\$4.59	\$12,737.25	\$15.00	\$41,625.00	\$10.00	\$27,750.00	\$18.00	\$87,210.00 \$49,950.00
160 FURNISHING AND PLACING TOPSOIL (4")	SY	7,000	\$0.50	\$3,500,00	\$2.75	\$19,250.00	\$1.53	\$10,710.00	\$6.00	\$42,000.00	\$1.00	\$7,000.00	\$2.93	\$20,510.00
162 SODDING FOR EROSION CONTROL (BLOCK SODDING)	SY	3,000	\$2.50	\$7,500.00	\$3.16	\$9,480.00	\$2.95	\$8,850.00	\$3.00	\$9,000.00	\$2.00	\$6,000.00	\$5.00	
164 SEEDING FOR EROSION CONTROL (CELLULOSE FIBER MULCH SEEDING)	SY	6,000	\$0.95	\$5,700.00	\$1.05	\$6,300.00	\$0.97	\$5,820.00	\$1,00	\$6,000.00	\$0.75	\$4,500.00	\$2.50	\$15,000.00 \$15,000.00
170 IRRIGATION SYSTEM RELOCATION/LANDSCAPING	ALW	1	\$10,000,00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
216 PROOF ROLLING	HR	20	\$90.00	\$1,800.00	\$100.00	\$2,000.00	\$81.88	\$1,637.60	\$250.00	\$5,000.00	\$55.00	\$1,100,00	\$74.00	\$1,480.00
260 LIME TREATED SUBGRADE(12" THICK, DENSITY CONTROL)	SY	18,000	\$1.50	\$27,000.00	\$3.95	\$71,100.00	\$4.01	\$72,180.00	\$5.00	\$90,000.00	\$3.50	\$63,000.00	\$7.30	\$1,480.00
260 LIME (SLURRY)	TON	396	\$210.00	\$83,160.00	\$160.00	\$63,360.00	\$147.26	\$58,314.96	\$160.00	\$63,360.00	\$140.00	\$55,440.00	\$161.11	\$63,799.56
340 HOT MIX ASPHALTIC CONCRETE PAVEMENT (TYPE "B")	TON	1,000	\$70.50	\$70,500.00	\$74.05	\$74,050.00	\$98.27	\$98,270.00	\$80.00	\$80,000.00	\$63.75	\$63,750.00	\$81.70	
340 HOT MIX ASPHALTIC CONCRETE PAVEMENT (TYPE "D")	TON	500	\$77.40	\$38,700.00	\$81.30	\$40,650.00	\$102.57	\$51,285.00	\$80.00	\$40,000.00	\$73.50	\$36,750.00	\$92.61	\$81,700.00 \$46,305.00
360 CONCRETE PAVEMENT (9" THICK, REINFORCED CLASS P)	SY	16,000	\$30.00	\$480,000.00	\$37.95	\$607,200.00	\$43.98	\$703.680.00	\$45.00	\$720,000.00	\$41.00	\$656,000.00	\$44.30	\$708,800.00
360 CONCRETE PAVEMENT REINFORCED STREET HEADER	LF	100	\$20.00	\$2,000.00	\$10.00	\$1,000.00	\$9.51	\$951.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$21.00	\$2,100.00
360 6" MONOLITHIC CONCRETE CURB	LF	6,500	\$2.00	\$13,000.00	\$1.00	\$6,500.00	\$0.94	\$6,110.00	\$2.00	\$13,000.00	\$1.50	\$9,750.00	\$3.18	\$20,670.00
401 FLOWABLE FILL	CY	200	\$110.00	\$22,000.00	\$96.60	\$19,320.00	\$100.47	\$20,094.00	\$100.00	\$20,000.00	\$127.50	\$25,500.00	\$96.84	\$19,368.00
402 TRENCH EXCAVATION PROTECTION	LF	1,242	\$6.30	\$7,824.60	\$1.05	\$1,304.10	\$1.68	\$2,086.56	\$2.00	\$2,484.00	\$3.50	\$4,347.00	\$1.05	\$1,304.10
403 TEMPORARY SPECIAL SHORING	SF	500	\$5.00	\$2,500.00	\$16.00	\$8,000.00	\$21.48	\$10,740.00	\$4.00	\$2,000.00	\$20.50	\$10,250.00	\$21.05	\$10,525.00
416 DRILLED SHAFT FOUNDATION (36" DIA)(TRAFFIC SIGNAL POLE)	LF	50	\$250.00	\$12,500.00	\$200.00	\$10,000.00	\$203.80	\$10,190.00	\$190.00	\$9,500.00	\$195.00	\$9,750.00	\$200.00	\$10,000.00
416 DRILLED SHAFT FOUNDATION (36" DIA)(LIGHT POLE)	LF	100	\$200.00	\$20,000.00	\$155.00	\$15,500.00	\$1.00	\$100.00	\$170.00	\$17,000.00	\$148.00	\$14,800.00	\$152.63	\$15,263.00
423 RETAINING WALL (TYPE 6)	CY	50	\$400.00	\$20,000.00	\$484.00	\$24,200.00	\$1.00	\$50.00	\$500.00	\$25,000.00	\$450.00	\$22,500.00	\$1,070.00	\$53,500.00
432 CONCRETE RIPRAP/FLUME (5" THICK)	SY	300	\$60.00	\$18,000.00	\$48.40	\$14,520.00	\$65.76	\$19,728.00	\$50.00	\$15,000.00	\$45.00	\$13,500.00	\$31.58	\$9,474.00
450 RAILING (TY PR1)	LF	210	\$100.00	\$21,000.00	\$80.00	\$16,800.00	\$122.92	\$25,813.20	\$100.00	\$21,000.00	\$100.00	\$21,000.00	\$73.68	\$15,472.80
462 REINFORCED CONCRETE BOX CULVERT, 7'X3'	LF	170	\$400.00	\$68,000.00	\$340.00	\$57,800.00	\$333.05	\$56,618,50	\$285.00	\$48,450.00	\$325.00	\$55,250.00	\$313.68	\$53,325.60
464 REINFORCED CONCRETE PIPE, 18" DIAMETER CLASS III	LF	992	\$55.00	\$54,560,00	\$85.05	\$84,369.60	\$51.76	\$51.345.92	\$75.00	\$74,400.00	\$55.00	\$54,560.00	\$47.37	\$46,991.04
464 REINFORCED CONCRETE PIPE, 24" DIAMETER, CLASS III	LF	80	\$75.00	\$6,000.00	\$94.50	\$7,560.00	\$75.96	\$6.076.80	\$85.00	\$6.800.00	\$66.25	\$5,300.00	\$55.79	\$4,463.20
465 INLET COMPLETE, 10' RECESSED	EA	3	\$6,600.00	\$19,800.00	\$3,000.00	\$9,000.00	\$2,906.79	\$8,720.37	\$2,700.00	\$8,100.00	\$3,500.00	\$10,500.00	\$2,579.00	\$7,737.00
465 INLET COMPLETE, 15' RECESSED	EA	5	\$7,500.00	\$37,500.00	\$3,900.00	\$19,500.00	\$3,765.13	\$18,825,65	\$4,000.00	\$20,000.00	\$4,500.00	\$22,500.00	\$3,843.00	\$19,215.00
466 WINGWALL (PW)(7'X3')(H=8')	EA	1	\$40,000,00	\$40,000.00	\$22,000.00	\$22,000.00	\$24,882.26	\$24,882.26	\$15,000.00	\$15,000.00	\$50,000.00	\$50,000.00	\$20,553.00	\$20,553,00
466 WINGWALL (PW)(7'X3')(H=10')	EA	1	\$50,000.00	\$50,000.00	\$32,000.00	\$32,000.00	\$31,643.84	\$31,643.84	\$20,000.00	\$20,000.00	\$62,500.00	\$62,500.00	\$27,895.00	\$27,895.00
479 ADJUST MANHOLE TOP	EA	5	\$2,500.00	\$12,500.00	\$1,750.00	\$8,750,00	\$273.99	\$1,369.95	\$325.00	\$1,625.00	\$1,250.00	\$6,250.00	\$553.00	\$2,765.00
496 REMOVING OLD STRUCTURES-PIPE	LF	500	\$9.00	\$4,500.00	\$10.50	\$5,250.00	\$8.77	\$4,385.00	\$15.00	\$7,500.00	\$12.25	\$6,125.00	\$9.47	\$4,735.00
496 REMOVING OLD STRUCTURES-SMALL (HEADWALLS/INLETS)	EA	10	\$915.00	\$9,150.00	\$370.00	\$3,700.00	\$320.62	\$3,206.20	\$600.00	\$6,000.00	\$459.00	\$4,590.00	\$921.00	\$9,210.00
496 REMOVING OLD STRUCTURES-42" W.L.	LF	2,000	\$26.65	\$53,300.00	\$15.75	\$31,500.00	\$8.06	\$16,120.00	\$20.00	\$40,000.00	\$25.50	\$51,000.00	\$23.16	\$46,320.00
496 REMOVING OLD STRUCTURES-WOOD FENCE W/STONE COLUMNS IN ROW	LS	1	\$4,000.00	\$4,000.00	\$15,000,00	\$15,000.00	\$2,585,99	\$2,585.99	\$6,000.00	\$6,000.00	\$15,000,00	\$15,000.00	\$2,589.00	\$2,589.00
500 MOBILIZATION	LS	1	\$230,000.00	\$230,000.00	\$158,500.00	\$158,500.00	\$302,069.00	\$302,069.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$133,313,00	\$133,313.00
502 BARRICADES, SIGNS AND TRAFFIC HANDLING	MO	14	\$10,250.00	\$143,500.00	\$2,000.00	\$28,000.00	\$2,624.37	\$36,741.18	\$2,000.00	\$28,000.00	\$2,000.00	\$28,000.00	\$1,327.00	\$18,578.00
502 ELECTRONIC MESSAGE DISPLAY BOARD	DAY	200	\$150.00	\$30,000.00	\$50.00	\$10,000,00	\$91.20	\$18,240.00	\$120.00	\$24,000.00	\$100.00	\$20,000.00	\$394.00	\$78,800.00
504 FACILITIES FOR FIELD OFFICE	MO	14	\$1,000.00	\$14,000.00	\$10,500.00	\$147,000.00	\$2,716.00	\$38,024.00	\$2,000.00	\$28,000.00	\$8.500.00	\$119,000.00	\$5,677.00	\$79,478.00
508 CONSTRUCTIONG DETOURS (CLASS III)	SY	7,000	\$17.00	\$119,000.00	\$39.30	\$275,100.00	\$22.42	\$156,940.00	\$18,00	\$126,000.00	\$50.00	\$350,000.00	\$39.35	\$275,450.00
512 CONCRETE TRAFFIC BARRIERS (PORTABLE)(FURNISH,INSTALL & REMOVE)	LF	1,000	\$8.50	\$8,500.00	\$5.00	\$5,000.00	\$31.11	\$31,110.00	\$60.00	\$60,000.00	\$5.25	\$5,250.00	\$29,47	\$29,470.00
528 COLORED STAMPED/TEXTURED CONCRETE (6" THICK)	SY	500	\$75.00	\$37,500.00	\$69.30	\$34,650.00	\$76.49	\$38,245.00	\$70.00	\$35,000.00	\$64.25	\$32,125.00	\$52.63	\$26,315.00
529 CONCRETE MONOLITHIC MEDIAN NOSES	SY	100	\$75.00	\$7,500.00	\$30.00	\$3,000.00	\$118.14	\$11,814.00	\$60.00	\$6,000.00	\$51.00	\$5,100.00	\$52.29	\$5,229.00
530 DRIVEWAYS (SURF, TREAT.)(FLEXIBLE BASE)(TYB)(GR2)(6")	SY	500	\$5.00	\$2,500.00	\$15.00	\$7,500.00	\$12.64	\$6,320.00	\$50.00	\$25,000.00	\$12.75	\$6,375.00	\$68.90	\$34,450.00
530 DRIVEWAYS (CONCRETE)(REINFORCED)(6"THICK)	SY	1,000	\$20.00	\$20,000.00	\$41.25	\$41,250.00	\$51,39	\$51,390.00	\$52.00	\$52,000.00	\$38.75	\$38,750.00	\$44.61	\$44,610.00
531 CONCRETE SIDEWALKS (REINFORCED)(4" THICK)	SY	3,000	\$25.00	\$75,000.00	\$35.20	\$105,600.00	\$29.13	\$87,390.00	\$35.00	\$105,000.00	\$32.75	\$98,250.00	\$33.62	\$100,860.00
531 CONCRETE SIDEWALKS (REINFORCED)(BARRIER FREE RAMPS)	SY	100	\$75.00	\$7,500.00	\$65.00	\$6,500.00	\$173.98	\$17,398.00	\$40.00	\$4,000.00	\$60.25	\$6,025.00	\$36.02	\$3,602.00
			· · · · · · · · · · · · · · · · · · ·		+	,		+ - 1000100	# 10100	+ -1000-00	400.50	40,020.00	Ψ//0.02	Ψ0,002.00

BID TAB

BID: 2013-012-6206 DATE: 12/20/2012

PROJECT MANAGER: Dennis Abraham, P.E.

			Ed B	ell	Tiseo Paving		Lone St	tar Civil	CPS Civil		Austin Brid	lge & Road	PaveCon	
ITEM DESCRIPTION	UNIT	QUANTITY	UNIT PRICE E	EXTENSION (UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION I	INIT PRICE	EXTENSION
531 CONCRETE SIDEWALK CURB (9" HIGH)	LF	100	\$15.00	\$1,500.00	\$12.10		\$8.90	\$890.00	\$10.00		\$11.25	\$1,125.00	\$6.42	\$642.00
540 METAL BEAM GUARD FENCE (12 GUAGE)	LF	100	\$22.50	\$2,250.00	\$24.00	\$2,400,00	\$26.82	\$2.682.00	\$70.00	\$7,000.00	\$23.25	\$2,325.00	\$26.32	\$2,632,00
540 TERMINAL ANCHOR SECTION	EA	2	\$750.00	\$1,500.00	\$545.00	\$1,090.00	\$751.05	\$1,502.10	\$1,500.00	\$3,000.00	\$530.00	\$1,060.00	\$895.00	\$1,790.00
550 TEMP. CONSTRUCTION FENCE	LF	1,000	\$3.73	\$3,730.00	\$3.80	\$3,800.00	\$3.76	\$3,760.00	\$1.25	\$1,250.00	\$8.75	\$8,750.00	\$3.68	\$3,680.00
550 CHAIN LINK FENCE (8' HIGH)	LF	100	\$25.56	\$2,556.00	\$25.20	\$2,520.00	\$25.75	\$2,575.00	\$17.00		\$49.00	\$4,900.00	\$25.26	\$2,526.00
552 WIRE FENCE (METAL POST)(TY C)	LF	3,000	\$6.50	\$19,500,00	\$6.41	\$19,230.00	\$6.54	\$19,620.00	\$5.00	\$15,000.00	\$4.00	\$12,000.00	\$6.42	\$19,260.00
552 METAL GATE (TY 1)	EΑ	10	\$718.88	\$7,188,80	\$710.00	\$7,100.00	\$724.23	\$7,242,30	\$1,500.00	\$15,000.00	\$353.00	\$3.530.00	\$711.00	\$7,110.00
560 MAILBOX ASSEMBLIES (PERMANENT)	EA	5	\$266.25	\$1,331.25	\$250.00	\$1,250,00	\$259.19	\$1,295,95	\$600.00	\$3,000.00	\$765.00	\$3,825.00	\$275.00	\$1,375.00
610 BASE (ROADWAY ILLUMINATION ASSEBLY)	EA	12	\$489.90	\$5,878.80	\$485.00	\$5,820,00	\$226.21	\$2,714,52	\$600.00	\$7,200.00	\$475.00	\$5,700.00	\$485.00	\$5,820.00
610 ROADWAY ILLUMINATION ASSEMBLY	EA	12	\$3,503.85	\$42,046.20	\$3,460.00	\$41,520.00	\$2,714.55	\$32,574.60	\$2,800.00	\$33,600.00	\$3,500.00	\$42,000.00	\$3,464.00	\$41,568.00
610 110 W FIXTURES	. EA	28	\$1,065.00	\$29,820.00	\$1,050.00	\$29,400.00	\$1,357.27	\$38,003.56	\$1,500.00	\$42,000.00	\$1,050.00	\$29,400.00	\$1,053.00	\$29,484.00
618 CONDUIT PVC (2" DIAMETER)(SCHEDULE 40)	LF	3,300	\$4.37	\$14,421.00	\$4.31	\$14,223.00	\$5.66	\$18,678.00	\$6.50	\$21,450.00	\$4.25	\$14,025.00	\$4.32	\$14,256.00
618 CONDUIT PVC (3" DIAMETER)(SCHEDULE 40)	LF	800	\$6,71	\$5,368.00	\$6.65	\$5,320.00	\$6.79	\$5,432.00	\$12.00	\$9.600.00	\$6.50	\$5,200.00	\$6.63	\$5,304.00
618 CONDUIT PVC (4" DIAMETER)(SCHEDULE 40)	LF	100	\$7.99	\$799.00	\$7.90	\$790.00	\$7.92	\$792.00	\$9.00	\$900.00	\$7,75	\$775.00	\$7.89	\$789.00
620 ELECTRIC CONDUCTORS (NO.6)BARE	LF	30	\$0.96	\$28.80	\$0.95	\$28.50	\$0.91	\$27.30	\$2.00	\$60.00	\$1.00	\$30.00	\$0.95	\$28.50
620 ELECTRIC CONDUCTORS (NO.6) INSULATED	LF	50	\$1.12	\$56.00	\$1.10	\$55.00	\$0.91	\$45.50	\$3.00	\$150.00	\$1.25	\$62.50	\$1.11	\$55.50
620 ELECTRIC CONDUCTORS (NO. 8) BARE	LF	750	\$0.64	\$480.00	\$0.65	\$487.50	\$0.79	\$592.50	\$2.00	\$1,500.00	\$0.75	\$562.50	\$0.63	\$472.50
620 ELECTRIC CONDUCTORS (NO. 8) INSULATED	LF	350	\$0.80	\$280.00	\$0.80	\$280.00	\$0.79	\$276.50	\$2.00	\$700.00	\$0.75	\$262.50	\$0.79	\$276.50
620 ELECTRIC CONDUCTORS (NO. 10) INSULATED	LF	20,200	\$0.59	\$11,918,00	\$0.58	\$11,716,00	\$0.68	\$13,736.00	\$1.00	\$20,200.00	\$0.75	\$15,150.00	\$0.58	\$11.716.00
624 GROUND BOX (TY D)(162922)(LIGHTING)	EA	14	\$426.00	\$5,964.00	\$420.00	\$5,880,00	\$622.08	\$8,709.12	\$400.00	\$5,600.00	\$425.00	\$5,950.00	\$421.00	\$5,894.00
624 GROUND BOX (TYD)(162922)W/APRON	EA	5	\$559.13	\$2,795.65	\$555.00	\$2,775.00	\$622.08	\$3,110,40	\$460.00	\$2,300.00	\$550.00	\$2,750.00	\$553.00	\$2,765.00
624 GROUND BOX (TY E)(162922) W/APRON	EA	1	\$505.88	\$505.88	\$500.00	\$500.00	\$565.53	\$565.53	\$460.00	\$460.00	\$485.00	\$485.00	\$500.00	\$500.00
644 NEW SMALL ROAD SIGNS	EΑ	13	\$455,00	\$5,915,00	\$450.00	\$5,850.00	\$498.91	\$6,485.83	\$350.00	\$4,550.00	\$357.00	\$4,641.00	\$450.00	\$5,850.00
644 REMOVE/RELOCATE SMALL ROADSIDE SIGNS	EA	5	\$400,00	\$2,000.00	\$395.00	\$1,975.00	\$402.35	\$2,011,75	\$325.00	\$1,625.00	\$357.00	\$1,785.00	\$395.00	\$1,975.00
662 WORK ZONE PAVEMENT MARKING (4" ONE-WAY REFLECTIVE WHITE BUTTONS)	EA	1,500	\$2,75	\$4,125,00	\$2.65	\$3,975.00	\$3.76	\$5,640.00	\$1.00	\$1,500.00	\$3.25	\$4,875.00	\$2.63	\$3,945.00
662 WORK ZONE PAVEMENT MARKING (4"TWO-WAY REFLECTIVE YELLOW BUTTONS)	EA	3,000	\$2.75	\$8,250.00	\$2.65	\$7,950,00	\$3.76	\$11,280,00	\$1.00	\$3,000.00	\$3.25	\$9,750.00	\$2.63	\$7,890.00
666 REFLECTORIZED PAVEMENT MARKINGS (TYPE 1)(4"WIDE)(WHITE)(BROKEN)	1 LF	3,400	\$0.80	\$2,720.00	\$0.80	\$2,720.00	\$1.14	\$3,876.00	\$1.00	\$3,400.00	\$1.00	\$3,400.00	\$0.79	\$2,686.00
666 REFLECTORIZED PAVEMENT MARKINGS (TYPE 2)(4"WIDE)(WHITE)(BROKEN)	LF	3,400	\$0.11	\$374.00	\$0.11	\$374.00	\$0.10	\$340.00	\$1.00	\$3,400.00	\$0.10	\$340.00	\$0.19	\$374.00
666 REFLECTOIRZED PAVEMENT MARKINGS (TYPE1)/4"WIDE)(YELLOW)(SOLID)	LF	1,600	\$0.75	\$1,200.00	\$0.75	\$1,200.00	\$1.14	\$1,824.00	\$1.00	\$1,600.00	\$1.00	\$1,600.00	\$0.74	\$1,184.00
666 REFLECTORIZED PAVEMENT MARKINGS (TYPE 2)(4" WIDE)(YELLOW)(SOLID)	LF	-1,600	\$0.11	\$176.00	\$0.11	\$176.00	\$0.10	\$160.00	\$1.00	\$1,600.00	\$0.10	\$160.00	\$0.14	\$176.00
666 REFLECTORIZED PAVEMENT MARKINGS (TYPE 1)(6"WIDE)(WHITE)(SOLID)	LF	600	\$1.12	\$672.00	\$1.10	\$660.00	\$1.51	\$906.00	\$1.00	\$600.00	\$1,25	\$750.00	\$1.11	\$666.00
666 REFLECTOIRZED PAVEMENT MARKINGS (TYPE 2)(6"WIDE)(WHITE)(SOLID)	LF	600	\$0.16	\$96.00	\$0.16	\$96.00	\$0.19	\$114.00	\$1.00	\$600.00	\$0.15	\$90.00	\$0.16	\$96.00
666 REFLECTORIZED PAVEMENT MARKINGS (TYPE 1)(8" WIDE)(WHITE)(SOLID)	LF	2,000	\$1.49	\$2,980.00	\$1.50	\$3,000.00	\$1.70	\$3,400.00	\$1.00	\$2,000.00	\$1.50	\$3,000.00	\$1.47	\$2,940.00
666 REFLECTORIZED PAVEMENT MARKINGS (TYPE 2)(8" WIDE)(WHITE)(SOLID)	LF	2.000	\$0.21	\$420.00	\$0.21	\$420.00	\$0.19	\$380.00	\$1.00	\$2,000.00	\$0.15	\$3,000.00	\$0.21	\$420.00
666 REFLECTORIZED PAVEMENT MARKINGS (TYPE 1)(12"WIDE)(WHITE)(SOLID	LF	1,000	\$2.24	\$2,240.00	\$2.21	\$2,210.00	\$3.47	\$3,470.00	\$1.50	\$1,500.00	\$3.00	\$3,000.00	\$2.21	\$2,210.00
666 REFLECTORIZED PAVEMENT MARKINGS (TYPE 2)(12"WIDE)(WHITE)(SOLID)	LF	1,000	\$0.32	\$320.00	\$0.32	\$320.00	\$0.32	\$320.00	\$1.50	\$1,500.00	\$0.30	\$300.00	\$0.32	\$320.00
666 REFLECTORIZED PAVEMENT MARKINGS (TYPE 1)(24" WIDE)(WHITE)(SOLID)	LF	200	\$4,47	\$894.00	\$4.45	\$890.00	\$5.99	\$1,198.00	\$3.00	\$600.00	\$5.00	\$1,000.00	\$4.42	\$884.00
666 REFLECTORIZED PAVEMENT MARKINGS (TYPE 2)(24"WIDE)(WHITE)(SOLID)	T LF	200	\$0.64	\$128.00	\$0.65	\$130.00	\$0.32	\$64.00	\$3.00	\$600.00	\$0.25	\$50.00	\$0.63	\$126.00
666 REFLECTORIZED PAVEMENT MARKINGS (TYPE 1)(ARROW)(WHITE)	EA	28	\$101.18	\$2,833.04	\$100.00	\$2,800.00	\$138,75	\$3.885.00	\$250.00	\$7,000,00	\$115.00	\$3,220.00	\$100.00	\$2,800.00
666 REFLECTORIZED PAVEMENT MARKINGS (TYPE 1)(WORD)(WHITE)	EA	8	\$111.83	\$894.64	\$110.25	\$882.00	\$151.37	\$1,210.96	\$250.00	\$2,000.00	\$125.00	\$1,000.00	\$100.00	\$2,800.00 00.888
672 RAISED PAVEMENT MARKERS (CL B)(TY 11-A-A)(4")	EA	100	\$3.60	\$360.00	\$3.55	\$355.00	\$3.59	\$359.00	\$3.00	\$300.00	\$3.00	\$300.00	\$3.56	\$356.00
672 RAISED PAVEMENT MARKERS (CL B)(TY II-C-R)(4")	EA	300	\$3.60	\$1,080.00	\$3.55	\$1,065.00	\$3.59	\$1,077.00	\$3.00	\$300,000	\$3.00	\$900.00	\$3.56	\$1,068.00
672 BLUE STIMSONITE FIRE-LITE REFLECTOR	EA	5	\$25.00	\$125.00	\$10.50	\$52.50	\$3.60	\$18.00	\$4.00	\$20.00	\$3.00	\$15.00	\$10.53	\$52.65
680 INSTALL TRAFFIC SIGNALS (ISOLATED)	LS	1	\$39,937.50	\$39,937.50	\$39,400.00	\$39,400.00	\$31,104.18	\$31,104,18	\$32,000.00	\$32,000.00	\$38,250.00	\$38,250.00	\$39.474.00	\$39,474.00
682 BACK PLATE (12IN)(3 SEC)	EA	10	\$53.25	\$532.50	\$55.00	\$550.00	\$84.83	\$848.30	\$100.00	\$1,000.00	\$51.00	\$50,250.00	\$52.63	\$526.30
682 BACK PLATE (12IN)(5 SEC)	EA.	4	\$79.88	\$319.52	\$80.00	\$320.00	\$90.49	\$361.96	\$110.00	\$440.00	\$76.50	\$306.00	\$78.95	\$315.80
682 LOUVER (12")(ADJUSTABLE)	EA	16	\$207.68	\$3,322.88	\$205.00	\$3,280,00	\$226.21	\$3,619.36	\$155.00	\$2,480.00	\$199.00	\$3,184.00	\$206.00	\$3,296.00
682 PED SIG SEC (12")(LED)(2 INDICATIONS)(COUNTDOWN)	EA	8	\$612.38	\$4,899.04	\$605.00	\$4,840.00	\$537.25	\$4,298.00	\$500.00	\$4,000.00	\$586.50	\$4,692.00	\$606.00	\$3,296.00
682 VEH SIG SEC (12")(LED)(GREEN ARROW)	EA.	6	\$239.63	\$1,437.78	\$240.00	\$1,440.00	\$305.39	\$1,832.34	\$300.00	\$1,800.00	\$229.50	\$1,377.00	\$237.00	\$4,848.00 \$1,422.00
682 VEH SIG SEC (12")(LED)(GREEN)	EA	12	\$244.95	\$2,939,40	\$242.00	\$2,904.00	\$305.39	\$3,664.68	\$300.00	\$3,600.00	\$229.50	\$2,820.00	\$237.00	\$1,422.00
682 VEH SIG SEC (12")(LED)(YELLOW ARROW)	EA	6	\$223.65	\$1,341.90	\$221.00	\$1,326.00	\$305.39	\$1,832.34	\$300.00	\$1,800.00	\$235.00	\$1,290.00	\$243.00	
682 VEH SIG SEC (12")(LED)(YELLOW)	EA	12	\$244.95	\$2,939.40	\$242.00	\$2,904.00	\$305.39	\$3,664.68	\$300.00	\$3,600.00				\$1,326.00
682 VEH SIG SEC (12")(LED)(RED ARROW)	EA	2	\$213.00	\$426.00	\$210.00	\$420.00	\$305.39	\$610.78	\$300.00	\$600.00	\$235.00	\$2,820.00	\$242.00	\$2,904.00
682 VEH SIG SEC (12")(LED)(RED)	EA	12	\$244.95	\$2,939,40	\$242.00	\$2.904.00	\$305.39	\$3,664,68	\$300.00		\$205.00	\$410.00	\$211.00	\$422.00
The second of th	_ <u> </u>	1 4	Φ244.90	かた, ざいざ.サリ	ΦZ4Z.UU	\$2,904,00	\$305.38 <u> </u>	\$0.400 ₁ CC	\$300.00	\$3,600.00	\$235.00	\$2,820.00	\$242.00	\$2,904.00

PROJECT: MERRITT ROAD MCIP PROJECT 22805 LIMITS: GARLAND/ROWLETT CITY LIMITS TO PLEASANT VALLEY ROAD

BID TAB

Ed Bell

BID: 2013-012-6206 DATE: 12/20/2012

PaveCon

Austin Bridge & Road

\$200.00

\$22,600.00

\$96.84

10942.92

PROJECT MANAGER: Dennis Abraham, P.E.

U.11 24" DIA. STEEL PIPE ENCASEMENT

ITEM DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
684 TRAFFIC SIGNAL CABLE(TYA)(14 AWG)(5 CONDR)	LF	600	\$0.91	\$546.00	\$0.90	\$540.00	\$1,13	\$678,00	\$2.00		\$1.00	\$600.00	\$0.89	\$534.00
684 TRAFFIC SIGNAL CABLE (TY A)(14 AWG)(7 CONDR)	LF	400	\$1.07	\$428.00	\$1.05	\$420.00	\$1.70	\$680.00	\$2.00		\$1.00	\$400.00	\$1.05	\$420.00
684 TRAFFIC SIGNAL CABLE (TY A)(14 AWG)(20 CONDR)	LF	700	\$3.30	\$2,310.00	\$3.30	\$2,310,00	\$3.39	\$2,373.00	\$2.00	11111	\$3.50	\$2,450.00	\$3.26	\$2,282.00
684 TRAFFIC SIGNAL CABLE (TY A)(16 AWG)(3 CONDR)	LF	900	\$0.85	\$765.00	\$0.85	\$765.00	\$1.02	\$918.00	\$2.00		\$1.00	\$900.00	\$0.84	\$756.00
686 INSTALL TRAFFIC SIGNAL POLE ASSEMBLIES (STEEL)(1 ARM)(40')(LUM)	EA	1	\$7,348.50	\$7,348.50	\$7,250.00	\$7,250.00	\$7,578.10	\$7,578,10	\$6,800.00	\$6,800.00	\$7,500.00	\$7,500.00	\$7,263.00	\$7,263.00
686 INSTALL TRAFFIC SIGNAL POLE ASSEMBLIES (STEEL)(1 ARM)(44')(LUM)	EA	2	\$7,455,00	\$14,910.00	\$7,350.00	\$14,700.00	\$7,747.77	\$15,495,54	\$6,700.00	\$13,400.00	\$7,250.00	\$14,500.00	\$7,369.00	\$14,738,00
686 INSTALL TRAFFIC SIGNAL POLE ASSEMBLIES (STEEL)(1 ARM)(48')(LUM)	EA	1	\$7,987.50	\$7,987.50	\$7,900.00	\$7,900.00	\$8,539,51	\$8,539.51	\$7,500.00	\$7,500.00	\$7,650.00	\$7,650.00	\$7,895.00	\$7,895.00
687 PED POLE ASSEMBLY	EA	4	\$1,331.25	\$5,325.00	\$1,315.00	\$5,260.00	\$1,357.27	\$5,429.08	\$1,600.00	\$6,400.00	\$1,500.00	\$6,000.00	\$1,316.00	\$5,264.00
TS.1 VIVDS PROCESSOR SYSTEM	EA	1	\$3,834,00	\$3,834.00	\$3,800.00	\$3,800.00	\$3,732.51	\$3,732,51	\$5,000.00		\$3,672,00	\$3,672.00	\$33,790.00	\$33,790.00
TS.2 VIVDS CAMERA ASSEMBLY	EA	4	\$5,005.50	\$20,022.00	\$4,950.00	\$19,800.00	\$4,891.84	\$19,567.36	\$300.00		\$5,000.00	\$20,000.00	\$4,948.00	\$19,792.00
TS.3 VIVDS SET-UP SYSTEM	EA ·	1	\$532,50	\$532.50	\$525.00	\$525.00	\$565.53	\$565.53	\$500.00	\$500.00	\$510.00	\$510.00	\$527.00	\$527.00
TS.4 VIVDS COMMUNICATION CABLE (COAXIAL)	LF	900	\$1.60	\$1,440.00	\$1.60	\$1,440.00	\$2.26	\$2,034,00	\$2.00	\$1,800.00	\$1.50	\$1,350.00	\$1.58	\$1,422.00
TS.5 AUDIBLE PEDESTRAIN SIGNAL UNITS	EA	8	\$915.90	\$7,327.20	\$905.00	\$7,240.00	\$1,244,17	\$9.953.36	\$1,230,00	\$9,840.00	\$900.00	\$7,200.00	\$906.00	\$7,248.00
TS.6 BBU SYSTEM	EA	1 1	\$6,390,00	\$6,390.00	\$6,300.00	\$6,300.00	\$6,333.95	\$6,333.95	\$6,000.00	\$6,000.00	\$6,200.00	\$6,200.00	\$6,316,00	\$6,316.00
TS.7 UNI-DIRECTIONAL OPTICOM DETECTOR	EA	4	\$1,757,25	\$7,029,00	\$1,750.00	\$7,000.00	\$1,922.81	\$7.691.24	\$2,550.00	\$10,200.00	\$1,700.00	\$6,800.00	\$1,737.00	\$6,948.00
5916 INSTALL ROCK FILTER DAMS (TY 2)	LF	50	\$23.43	\$1,171.50	\$23.50	\$1,175.00	\$19.85	\$992.50	\$40.00	\$2,000.00	\$25.00	\$1,250.00	\$31.58	\$1,579.00
5916 REMOVE ROCK FILTER DAMS (TY 2)	LF	50	\$5.33	\$266.50	\$5.50	\$275.00	\$4.83	\$241.50	\$40.00	\$2,000.00	\$5.25	\$262.50	\$5.26	\$263.00
5920 INSTALL TEMP SEDIMENT CONTROL FENCE W/PLASTIC CAPS	LF	2,000	\$1,44	\$2,880.00	\$1.45		\$1.39	\$2,780.00	\$2.00	\$4,000.00	\$1.50	\$3,000.00	\$1.58	\$3,160.00
5920 REMOVE TEMP SEDIMENT CONTROL FENCE W/PLASTIC CAPS	LF	2.000	\$0.16	\$320.00	\$1.25		\$0.43	\$860.00	\$2.00	\$4,000.00	\$0.15	\$300.00	\$0.53	\$1,060,00
5921 INSTALL CONSTRUCTION EXITS (ROCK)(TY 1)	SY	200	\$14.91	\$2,982.00	\$15.00	\$3,000.00	\$15.29	\$3,058.00	\$20.00		\$14.50	\$2,900.00	\$5.26	\$1,052.00
5921 REMOVE CONSTUCTION EXITS (ROCK)(TY 1)	SY	200	\$5.33	\$1,066.00	\$5.25	\$1,050.00	\$5.90	\$1,180.00	\$5.00	\$1,000.00	\$5.25	\$1,050.00	\$1.05	\$210.00
5922 INSTALL INLET TEMP. SEDIMENT CONTROL	LF	200	\$1.81	\$362.00	\$1.80	\$360.00	\$2.09	\$418.00	\$5.00 \$5.00	\$1,000.00	\$1.75	\$350.00	\$1.05	
5922 REMOVE INLET TEMP. SEDIMENT CONTROL	LF	200	\$0.53	\$106.00	\$0.55	\$110.00	\$0.54	\$108.00	\$3.00	\$600.00	\$0.50	\$100.00		\$2,106.00
W,1 ADJUST WATER METER BOX	EA	5	\$346.13	\$1,730.65	\$790.00	\$3,950.00	\$283.41	\$1,417.05	\$50.00	\$250.00	\$350.00	\$1,750.00	\$5.26	\$1,052.00
W.2 ADJUST WATER VALVE STACK TOP	EA	10	\$314.18	\$3,141.80	\$420.00	\$4,200.00	\$193.83	\$1,938.30	\$60.00	\$600.00	\$305.00	\$3,050.00	\$490.00 \$111.00	\$2,450.00
W.3 ADJUST FIRE HYDRANT ELEVATION	EA	5	\$718.88	\$3,594.40	\$790.00	\$3,950.00	\$851.14	\$4,255.70	\$1,000.00	\$5,000.00	\$688.50			\$1,110.00
w.4 AIR VAVLE ON NTMWD 72" WTR LINE	LS	1	\$18,670.52	\$18,670,52	\$18,800.00	\$18,800.00	\$28,408.20	\$28,408.20	\$1,500.00	\$1,500.00	1 1 1 1 1 1	\$3,442.50	\$1,016.00	\$5,080.00
SI.1 SITE INVESTIGATION FOR UTILITIES	EA	5	\$532.50	\$2,662.50	\$210.00	\$1.050.00	\$566.81	\$2.834.05	\$800.00	\$4,000.00	\$18,500.00	\$18,500.00	\$4,579.00	\$4,579.00
L.1 SHADE TREE-CEDAR ELM	EA	7	\$733.60	\$5,135.20	\$450.00	\$3,150.00	\$455.99	\$3,191,93	\$500.00	\$3,500.00	\$510.00 \$725.00	\$2,550.00	\$2,106.00	\$10,530.00
L.2 SHADE TREE-SHANTUNG MAPLE	EA	7	\$741.30	\$5,189.10	\$345.00	\$2,415.00	\$348.70	\$2,440.90	\$400.00	\$2,800.00	\$725.00	\$5,075.00 \$5,075.00	\$448.00	\$3,136.00
L.3 SHRUBS/GRASSES-KNOCKOUT RED ROSE	EA	84	\$37.10	\$3,116.40	\$34.00	\$2,415.00	\$34.33	\$2,883.72	\$30.00	\$2,520.00	\$36.00	\$3,024.00	\$343.00	\$2,401.00
L.4 SHRUBS/GRASSES-MEXICAN FEATHERGRASS	EA	426	\$23.00	\$9,798.00	\$21.00	\$8.946.00	\$20.92	\$8.911.92	\$15.00	\$6,390.00			\$33.68	\$2,829.12
L.5 IRRIGATION SYSTEM	LS	1	\$36,105.00	\$36,105.00	\$26,250.00	\$26,250.00	\$26,823.21	\$26,823.21	\$13,500.00	\$13,500.00	\$22.25	\$9,478.50	\$20.53	\$8,745.78
L.6 CITY SIGN	ALW	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$35,000.00	\$35,000.00	\$26,316.00	\$26,316.00
L.7 36" DEEP-DUAL PURPOSE ROOT AND WATER BARRIER	LF	4,294	\$1.00	\$4,294.00	\$9.50	\$40,793.00	\$9.66	\$41,480.04			\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
The state of the s		7,204	ψ1.00 <u>1</u>	\$4,254.00	49.50[\$40,793.00	29.00	\$41,460.04]	\$11.00	\$47,234.00	\$1.00	\$4,294.00	\$9.47	\$40,664.18
SUBTOTAL SCHEDULE 1 - PAVING & DRAINAGE ITEMS				\$2,621,811.25		\$2,787,327.20		\$2,949,897,20		\$2,955,213.00		\$2,963,343,00		#0 000 040 40
				φ2,021,011.20		\$2,101,321.20		\$2,343,031.20		\$2,955,215.00		\$2,563,343.00		\$3,092,210.13
SCHEDULE II - UTILITIES														
U.1 6" PVC WATER PIPE-DR 18	LF I	50	\$97.98	\$4,899.00	\$61.00	\$3.050.00	\$108.91	\$5,445.50	\$200.00	\$10,000.00	40E 00	64 750 001	eox col	#4 C70 001
U.2 12" PVC WATER PIPE-DR 14	LF	76	\$89.41	\$6,795.16	\$79.00	\$6,004.00	\$64.64	\$4,912.64	\$200.00	\$19,000.00	\$95.00 \$85.75	\$4,750.00 \$6,517.00	\$31.58	\$1,579.00
U.3 16" PVC WATER PIPE-DR 14	LF	73	\$250.00	\$18,250.00	\$110.00	\$8,030.00	\$91.57	\$6,684.61	\$300.00	\$19,000.00			\$54.74	\$4,160.24
U.4 DUCTILE IRON FITTING (FULL BODY, AWWA C110)	TON	2	\$9,052.50	\$18,105.00	\$9,400.00	\$18.800.00	\$8,951.14	\$17,902.28	\$3,000.00		\$165.00	\$12,045.00	\$88.42	\$6,454.66
U.5 INSTALL FIRE HYDRANT	EA	5	\$5.000.00	\$25,000.00	\$4,200.00	\$21,000.00	\$2,742.03	\$17,902.26	\$3,600.00	\$6,000.00	\$8,670.00	\$17,340.00	\$6,843.00	\$13,686.00
U.6 6° GATE VALVE	EA	3	\$1,650.75	\$4,952.25	\$1,050.00	\$21,000.00	\$2,742.03			\$18,000.00	\$4,590.00	\$22,950.00	\$2,790.00	\$13,950.00
U.7 12" GATE VALVE	EA	1	\$3.061.88	\$4,952.25	\$2,400.00			\$2,269.38	\$800.00	\$2,400.00	\$1,581.00	\$4,743.00	\$1,027.00	\$3,081.00
U.8 16" GATE VALVE	EA	2	\$18.705.66	\$3,061.88		\$2,400.00	\$1,891.67	\$1,891.67	\$2,600.00	\$2,600.00	\$2,932.50	\$2,932.50	\$2,090.00	\$2,090.00
U.9 TRENCH SAFETY AND SUPPORT	LF	425			\$12,300.00	\$24,600.00	\$6,008.79	\$12,017.58	\$11,900.00	\$23,800.00	\$20,000.00	\$40,000.00	\$9,732.00	\$19,464.00
U.10 18" DIA. STEEL PIPE ENCASEMENT	LF LF	113	\$3.46	\$1,470.50	\$1.05	\$446.25	\$1.67	\$709.75	\$2.00	\$850.00	\$3.50	\$1,487.50	\$1.05	\$446.25
11.11 24" DIA STEEL PIPE ENCASEMENT		110	\$150.00	\$16,950.00	\$133.00	\$15,029.00	\$68.56	\$7,747.28	\$70.00	\$7,910.00	\$145.00	\$16,385.00	\$80.00	\$9,040.00

Tiseo Paving

Lone Star Civil

CPS Civil

\$161.00

\$18,193.00

\$70.91

\$8,012.83

\$100.00

\$11,300.00

LF

113

\$200.00

\$22,600.00

PROJECT: MERRITT ROAD MCIP PROJECT 22805

LIMITS: GARLAND/ROWLETT CITY LIMITS TO PLEASANT VALLEY ROAD

BID TAB

BID: 2013-012-6206

DATE: 12/20/2012

PROJECT MANAGER: Dennis Abraham, P.E.

Ed Bell

Tiseo Paving

Lone Star Civil

CPS Civil

Austin Bridge & Road

PaveCon

	·
ITEM DESCRIPTION	UNIT QUANTITY UNIT PRICE EXTENSION
ADD ALTERNATE NO. 1 - LANDSCAPING	

LA A SALE TETRINIC TREE TOLION ORDER TO DEPOS TO UNITED														
LA.1 MULTI-TRUNK TREE-"SHOAL CREEK" PURPLE VITEX	EA	8	\$513.00	\$4,104.00	\$290.00	\$2,320.00	\$295.06	\$2,360.48	\$270.00	\$2,160.00	\$500.00	\$4,000,00		\$0.0
LA.2 MULTI-TRUNK TREE-"BUBBA" PINK DESERT WILLOW	EA	11	\$491.00	\$5,401.00	\$310.00	\$3,410.00	\$316.51	\$3,481,61	\$270.00	\$2,970.00	\$475.00	\$5,225.00		\$0.0
LA.3 SHRUBS/PERENNIALS- UPRIGHT ROSEMARY	EA	64	\$52.40	\$3,353.60	\$50.00	\$3,200.00	\$50.96	\$3,261,44	\$20,00	\$1,280.00	\$50.25	\$3,216.00		\$0.00
LA.4 SHRUBS/PERENNIALS - COMPACT TEXAS SAGE	EA	55	\$52.40	\$2,882.00	\$52.00	\$2,860.00	\$53,11	\$2,921,05	\$30.00	\$1,650,00	\$50.25	\$2,763,75		\$0.00
LA.5 SHRUBS/PERENNIALS - CHERRY PINK AUTUMN SAGE	EA	105	\$51.15	\$5,370.75	\$23.00	\$2,415.00	\$23.07	\$2,422.35	\$30.00	\$3,150.00	\$49.00	\$5,145.00		\$0.00
LA.6 SHRUBS/PERENNIALS - SKELETON LEAF GOLDENEYE	EA	86	\$53.70	\$4,618.20	\$30.00	\$2,580.00	\$30.58	\$2,629.88	\$10.00	\$860.00	\$52.00	\$4,472.00		\$0.00
LA.7 SHRUBS/PERENNIALS- CENTURY PLANT	EA	17	\$262.00	\$4,454,00	\$132.00	\$2,244.00	\$134.12	\$2,280.04	\$5.00	\$85.00	\$250.00	\$4,250.00	-	\$0.00
LA.8 SHRUBS/PERENNIALS-SPINELESS PRICKLY PEAR	EA	10	\$42.20	\$422.00	\$63.00	\$630.00	\$64.38	\$643.80	\$15.00	\$150.00	\$45.00	\$450.00	\$63.16	\$631.60
LA.9 IRRIGATION SYSTEM	LS	1	\$14,000.00	\$14,000.00	\$26,250.00	\$26,250.00	\$26,823.21	\$26,823.21	\$5,500.00	\$5,500.00	\$15.000.00	\$15,000.00	\$26,316.00	\$26,316.0

SUBTOTAL ADD ALTERNATE NO.1-LANDSCAPING

\$44,605.55

\$45,909.00

\$46,823.86

\$17,805.00

\$44,521.75

\$26,947.60

ALTERNATE NO 1 - UNSPECIFIED SOURCE

360 CONCRETE PAVEMENT (10" THICK, REINFORCED CLASS P)	ŞY	16,000	\$30.00	\$480,000.00	\$37.95	\$607,200.00	\$81.52	\$1,304,320.00	\$45.00	\$720,000.00	\$41.00	\$656,000.00	\$44.30	\$708,800.00
360 CONCRETE PAVEMENT REINFORCED STREET HEADER	LF	100	\$20.00	\$2,000.00	\$10.00	\$1,000.00	\$9.50	\$950.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$20.54	\$2,054.00
360 6" MONOLITHIC CONCRETE CURB	LF	6,500	\$2.00	\$13,000.00	\$1.00	\$6,500.00	\$0.94	\$6,110.00	\$2.00	\$13,000.00	\$1.50	\$9.750.00	\$3.18	\$20,670.00
416 DRILLED SHAFT FOUNDATION (36" DIA)(TRAFFIC SIGNAL POLE)	LF	50	\$250.00	\$12,500.00	\$200.00	\$10,000.00	\$203.59	\$10,179.50	\$90.00	\$4,500.00	\$195.00	\$9,750.00	\$200.00	\$10,000,00
416 DRILLED SHAFT FOUNDTION (36" DIA)(LIGHT POLE)	LF	100	\$200.00	\$20,000.00	\$155.00	\$15,500.00	\$254.49	\$25,449.00	\$90.00	\$9,000.00	\$148.00	\$14,800,00	\$152.63	\$15,263.00
423 RETAINING WALL (TYPE 6)	CY	50	\$400.00	\$20,000.00	\$484.00	\$24,200.00	\$746.69	\$37,334.50	\$500.00	\$25,000.00	\$450.00	\$22,500.00	\$1,070.00	\$53,500.00
432 CONCRETE RIPRAP (5" THICK)	SY	300	\$60.00	\$18,000.00	\$48.40	\$14,520.00	\$131.53	\$39,459.00	\$50.00	\$15,000.00	\$45.00	\$13,500.00	\$31.58	\$9,474.00
465 INLET COMPLETE, 10' RECESSED	EA	3	\$6,600.00	\$19,800.00	\$3,000.00	\$9,000.00	\$5,813.58	\$17,440,74	\$2,700.00	\$8,100.00	\$3,500.00	\$10,500.00	\$2,579.00	\$7,737.00
465 INLET COMPLETE, 15' RECESSED	EA	5	\$7,500.00	\$37,500.00	\$3,900.00	\$19,500.00	\$7,530.27	\$37,651.35	\$4,000.00	\$20,000.00	\$4,500.00	\$22,500.00	\$3,843.00	\$19,215.00
466 WINGWALL (PW)(7'X3')(H=8')	EA	1	\$40,000.00	\$40,000.00	\$22,000.00	\$22,000.00	\$70,940.75	\$70,940.75	\$15,000.00	\$15,000.00	\$50,000.00	\$50,000.00	\$20,553.00	\$20,553.00
466 WINGWALL (PW)(7'X3')(H≈10')	EA	1	\$50,000.00	\$50,000.00	\$32,000.00	\$32,000.00	\$93,691.08	\$93,691,08	\$20,000.00	\$20,000.00	\$62,500.00	\$62,500.00	\$27,895.00	\$27,895.00
529 CONCRETE MONOLITHIC MEDIAN NOSES	SY	100	\$75.00	\$7,500.00	\$30.00	\$3,000.00	\$118.14	\$11,814.00	\$60.00	\$6,000.00	\$51.00	\$5,100.00	\$52.29	\$5,229.00
530 DRIVEWAYS (CONCRETE)(REINFORCED)(6" THICK)	SY	1,000	\$20.00	\$20,000.00	\$41.25	\$41,250.00	\$51.39	\$51,390.00	\$52.00	\$52,000.00	\$38.75	\$38,750.00	\$44.61	\$44,610.00
531 CONCRETE SIDEWALKS (REINFORCED)(4" THICK)	SY	3,000	\$25.00	\$75,000.00	\$35.20	\$105,600,00	\$30.10	\$90,300.00	\$35.00	\$105,000.00	\$32.75	\$98,250.00	\$33.62	\$100,860.00
531 CONCRETE SIDEWALKS (REINFORCED)(BARRIER FREE RAMPS)	SY	100	\$75.00	\$7,500.00	\$65.00	\$6,500.00	\$173.98	\$17,398.00	\$40.00	\$4,000.00	\$60.25	\$6.025.00	\$36.02	\$3,602.00
531 CONCRETE SIDEWALKS CURB (9" HIGH)	LF	100	\$15.00	\$1,500.00	\$12.10	\$1,210.00	\$8.90	\$890.00	\$10.00	\$1,000.00	\$11.25	\$1,125.00	\$6.42	\$642,00

SUBTOTAL ALTERNATE NO 1 - UNSPECIFIED SOURCE

\$824,300.00

\$918,980.00

\$1,815,317.92

\$1,018,600.00

\$1,022,050.00

\$1,050,104.00

PROJECT: MERRITT ROAD MCIP PROJECT 22805

LIMITS: GARLAND/ROWLETT CITY LIMITS TO PLEASANT VALLEY ROAD

TOTAL BID (INCLUDING PARTNERING WORKSHOP, ADD ALTERNATE NO1 & ALTERNATE BID NO 2)

BID TAB

BID: 2013-012-6206

\$3,115,093,00

\$3,183,770.20

DATE: 12/20/2012

PROJECT MANAGER: Dennis Abraham, P.E.

Ed Bell Tiseo Paving Lone Star Civil CPS Civil Austin Bridge & Road PaveCon ITEM DESCRIPTION UNIT QUANTITY UNIT PRICE EXTENSION ALTERNATE NO. 2 - <1.7NOx 360 CONCRETE PAVEMENT (10" THICK, REINFORCED CLASS P) SY 16,000 \$30.00 \$480,000.00 \$607,200.00 \$81.52 \$1,304,320.00 \$45.00 \$720,000.00 \$41.00 \$656,000.00 \$708,800.00 360 CONCRETE PAVEMENT REINFORCED STREET HEADER LF 100 \$20.00 \$2,000.00 \$10.00 \$1,000.00 \$9.50 \$950.00 \$10.00 \$1,000.00 \$10.00 \$1,000,00 \$20.54 \$2,054.00 360 6" MONOLITHIC CONCRETE CURB LF 6.500 \$2.00 \$13,000.00 \$0.94 \$1.00 \$6,500.00 \$6,110,00 \$2.00 \$13,000.00 \$1.50 \$9,750.00 \$3.18 \$20,670.00 416 DRILLED SHAFT FOUNDATION (36" DIA)(TRAFFIC SIGNAL POLE) LF 50 \$250.00 \$12,500,00 \$200.00 \$10,000.00 \$203.59 \$10,179,50 \$90.00 \$4,500.00 \$195.00 \$9,750.00 \$200.00 \$10,000.00 416 DRILLED SHAFT FOUNDATION (36" DIA)(LIGHT POLE) LF 100 \$200.00 \$20,000.00 \$155.00 \$15,500.00 \$254.49 \$25,449.00 \$90.00 \$9,000.00 \$148.00 \$14,800.00 \$152.63 \$15,263.00 423 RETAINING WALL (TYPE 6) CY 50 \$400.00 \$20,000.00 \$484.00 \$24,200.00 \$746.69 \$37,334,50 \$500.00 \$25,000.00 \$450.00 \$22,500.00 \$1,070.00 \$53,500.00 432 CONCRETE RIPRAP (5" THICK) SY 300 \$60.00 \$18,000.00 \$48.40 \$14,520.00 \$131.53 \$39,459,00 \$50.00 \$45.00 \$15,000.00 \$13,500.00 \$31.58 \$9,474.00 465 INLET COMPLETE, 10' RECESSED \$3,000.00 EA \$6,600.00 \$19,800.00 3 \$9,000.00 \$5,813.58 \$17,440.74 \$2,700.00 \$8,100.00 \$3,500.00 \$10,500.00 \$2,579.00 \$7,737.00 465 INLET COMPLETE, 15' RECESSED ĒΑ \$7,500.00 5 \$37,500.00 \$3,900.00 \$19,500,00 \$7,530.27 \$37,651.35 \$4,000.00 \$20,000.00 \$4,500.00 \$22,500.00 \$3,843.00 \$19.215.00 466 WINGWALL (PW)(7'X3')(H=8') EΑ \$40,000.00 \$40,000.00 \$22,000.00 \$22,000.00 \$70,940,75 \$70,940.75 \$15,000.00 \$15,000.00 \$50,000.00 \$50,000.00 \$20.553.00 \$20,553.00 466 WINGWALL (PW)(7'X3')(H=10') EΑ \$50,000.00 \$50,000.00 \$32,000.00 \$32,000.00 \$93,691.08 \$93,691.08 \$20,000.00 \$20,000,00 \$62,500.00 \$62,500,00 \$27.895.00 \$27,895,00 529 CONCRETE MONOLITHIC MEDIAN NOSES SY 100 \$75.00 \$7,500.00 \$30.00 \$11,814,00 \$6,000,00 \$3,000.00 \$118.14 \$60.00 \$51.00 \$5,100,00 \$52.29 \$5,229.00 530 DRIVEWAYS (CONCRETE)(REINFORCED)(6" THICK) SY \$41.25 1,000 \$20,00 \$20,000.00 \$41,250,00 \$51,39 \$51,390,00 \$52,00 \$52,000,00 \$38.75 \$38,750,00 \$44.61 \$44,610.00 531 CONCRETE SIDEWALKS (REINFORCED)(4" THICK) SY 3,000 \$25.00 \$75,000.00 \$35,20 \$105,600,00 \$30.10 \$90,300,00 \$35.00 \$105,000.00 \$32.75 \$98,250.00 \$33.62 \$100,860.00 531 CONCRETE SIDEWALKS (REINFORCED)(BARRIER FREE RAMPS) SY 100 \$75.00 \$7,500.00 \$65.00 \$6,500.00 \$173.98 \$17.398.00 \$4,000.00 \$40.00 \$60.25 \$6,025,00 \$36.02 \$3,602.00 531 CONCRETE SIDEWALK CURB (9" HIGH) LF 100 \$15.00 \$1,500.00 \$8.90 \$12.10 \$1,210.00 \$890.00 \$10.00 \$1,000.00 \$11.25 \$1,125.00 \$6.42 \$642.00 SUBTOTAL ALTERNATE NO 2. - <1.7NOx \$824,300.00 \$918,980.00 \$1,815,317.92 \$1,018,600.00 \$1,022,050.00 \$1,050,104.00 599 PARTNERING WORKSHOP LS \$2,500.00 \$2,500.00 \$1,500.00 \$1,500.00 \$1,609.39 \$1,609.39 \$1,000.00 \$1,000.00 \$500.00 \$500.00 \$6,666.00 \$6,666.00 SUBTOTAL: SCHEDULE 1-PAVING & DRAINAGE (DRY KILN) \$2,621,811.25 \$2,787,327.20 \$2,949,897.20 \$2,955,213.00 \$2.963,343.00 \$3,092,210,13 SUBTOTAL: SCHEDULE II - UTILITIES \$159,495.11 \$120,702.25 \$81,303.67 \$123,760.00 \$151,750.00 \$84,894.07 TOTAL BID (INCLUDING PARTNERING WORKSHOP) \$2,783,806.36 \$2,909,529.45 \$3,032,810.26 \$3,115,593.00 \$3,079,973.00 \$3,183,770.20 SUBTOTAL: ADD ALTERNATE NO. 1 (LANDSCAPING) \$44,605.55 \$45,909.00 \$46,823.86 \$17,805.00 \$44,521.75 \$26,947.60 TOTAL BID (INCLUDING PARTNERING WORKSHOP & ADD ALTERNATE NO 1) \$2,828,411.91 \$2,955,438.45 \$3,079,634.12 \$3,097,778.00 \$3,160,114.75 \$3,210,717.80 SUBTOTAL: ALTERNATE BID NO. 1 (UNSPECIFIED SOURCE) \$824,300.00 \$918,980.00 \$1,815,317.92 \$1,018,600.00 \$1,022.050.00 \$1,050,104.00 TOTAL BID (INCLUDING PARTNERING WORKSHOP, ADD ALTERNATE NO 1 & ALTERNATE BID NO1) \$2,828,411.91 \$3.019,438.45 \$3,080,778.27 \$3,097,778.00 \$3,115,093.00 \$3,183,770.20 SUBTOTAL BID: ALTERNATE BID NO. 2 (<1.7 Nox) \$824,300.00 \$918,980.00 \$1,815,317.92 \$1,018,600.00 \$1,022,050.00 \$1,050,104.00

\$2,828,411.91

炒

\$3,019,438.45

\$3,080,778.27

\$3,097,778.00